Garland Independent School District

GISD Sourcing Bid Tab Report

Bid#: 31456

Title:17-16 Refrigerated & Frozen Foods

Quote Vendor / Supplier	EPCNT	Discount
5E+05 *ADVANCE SALES & MARKETING INCORPORATED	Yes	N/A
5E+05 ADVANTAGE WAYPOINT LLC	Yes, as	0%
5E+05 AEM ECK ACQUISITION INC DBA ARMOUR ECKRICH	No	0
5E+05 *ARYZTA LLC	Yes	0
5E+05 ASIAN FOOD SOLUTIONS	Yes	120 cases
5E+05 BRAKEBUSH BROTHERS INCORPORATED	No	No
5E+05 BRAUN BEEF CO INC	no	n/a
5E+05 BRIDGFORD MARKETING COMPANY	Yes	N/A
5E+05 C H GUENTHER & SON INC DBA PIONEER FLOUR MILLS	Yes	2%10
5E+05 CAL-TEX CITRUS JUICE LLP DBA COUNTRY PURE	Yes	0
5E+05 CHEFS CORNER FOODS	N/A	N/A
5E+05 CONAGRA FOODS INCORPORATED	NO	N/A
5E+05 DEL REAL LLC DBA DEL REAL FOODS	Yes	0
5E+05 DOUBLE B FOODS	No	Usually 8%
5E+05 EICHENLAUB INCORPORATED DBA SUMMIT FOOD	Yes	Net pricing
5E+05 FOSTER POULTRY FARMS DBA FOSTER FARMS	Yes	Varies by
5E+05 GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	yes as	n/a
5E+05 GOODMAN FOOD PRODUCTS DBA DON LEE FARMS	YES	5,000 lbs
5E+05 *HANKS BROKERAGE	Yes	0
5E+05 INTEGRATED FOOD SERVICE		Zero
	Yes	
5E+05 J BAR B FOODS	Yes,	NA
5E+05 JTM PROVISIONS CO INC	No	N/A
5E+05 LECHI ENTERPRISES LLC DBA LECHI FOODS	Yes	0
5E+05 LINGS	Yes, as	0
5E+05 *MCCAIN FOODS	YES	NA
5E+05 MCI FOODS INC	Yes	N/A
5E+05 MCLANE EXPRESS INCORPORATED DBA THE CD	Yes	12%
5E+05 MR MUDBUG INC DBA MMI CULINARY SERVICES	Yes	N/A
5E+05 NARDONE BROS BAKING CO INC	yes	n/a
5E+05 NATIONAL FOOD GROUP INC	Yes	NA
5E+05 *RICH CHICKS, LLC	YES	N/A
5E+05 SCHWANS FOOD SERVICE	Additional	N/A
5E+05 SUPER BAKERY INC	Yes	0
5E+05 SYSCO USA INCORPORATED DBA SYSCO NORTH	Yes, as	10%
5E+05 TABATCHNICK FINE FOODS INCORPORATED		No
	Yes	Minimum
5E+05 TASTY BRANDS LLC	Yes	N/A
	Yes, Tyson	
5E+05 WINDSOR QUALITY FOODS COMPANY LTD DBA	Yes No	0 1/2% 10
CHURCHFIELD TRADING COMPANY	NO	1/2% 10
LAMB WESTON C/O ACOSTA FOOD SERVICE		
BONGARDS C/O ACOSTA FOOD SERVICE		
THE FATHERS TABLE C/O ACOSTA FOOD SERVICE		
SADLER'S C/O ACOSTA FOOD		
RESER'S C/O ACOSTA FOOD		
RALCORP/CONAGRA BAKERIES C/O ACOSTA FOOD		
DANNON C/O ACOSTA FOOD		

*CONFIDENTIAL

8PS - Failed to provide product sample 3TQ - Taste quality of product unacceptable 1NL - Not low when unit or pound price is calculated 4NS - Not to specifications NA - No award recommended 4MO - Minimum order quantities too restrictive

					CONFIDENTIAL			
Line #	Item Description	Award (Y/N)	Reason	UOM	Supplier	Qty	Price	Extended Price
1	BACON, SLICED 10#, WRIGHT #401110-616	No Award		cs		400	NB	NB
	COMMERCIAL BAR-B-Q, PORK, LOW SODIUM TEXAS WESTERN SAUCE, 4/51b/CS, BOIL IN BAG, USAGE DEPENDENT UPON USDA DONATED PRODUCT	No Award		cs	SADLER'S C/O ACOSTA FOOD SERVICE	1500	68.2	\$102,300.00
				cs	JTM PROVISIONS CO INC	1500	77.98	\$116,970.00
3	BEEF ENCHILADAS, 51% WHOLE GRAIN, MUST MEET 1/2 OZ OR MORE MEAT REQUIREMENT AND 1 BREAD SERVING	Y		cs	FOSTER POULTRY FARMS DBA FOSTER FARMS	3500	32.64	\$114,240.00
				CS	MCI FOODS INC	3500	38	\$133,000.00
	BEEF FAJITA (COOKED) FAJITA PATTIE PRODUCTS NOT ACCEPTABLE	No Award		cs		1000	NB	NB
5	BEEF FAJITAS, RAW, LOW SODIUM, MARINATED PRE-CUT STRIPPED SKIRTS	Y		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	2500	55.35	\$138,375.00

Line #	Item Description	Award (Y/N)	Reason	UOM	Supplier	Qty	Price	Extended Price
						0500	50.05	\$4.44.005.00
				CS	BRAUN BEEF CO INC	2500	56.65	\$141,625.00
	COMMODITY BEEF CHAR PATTIES WITH MUSHROOM, PRE-COOKED, USAGE DEPENDS UPON USDA DONATED BEEF, 2.40oz, LOOSE	No						
6	FILL-NATURAL SHAPE	Award		CS	BRAUN BEEF CO INC	3000	31.518	\$94,554.00
				cs	JTM PROVISIONS CO INC	3000	35.57	\$106,710.00
				cs	GOODMAN FOOD PRODUCTS DBA DON LEE FARMS	3000	43.54	\$130,620.00
7	COMMERCIAL BEEF CHAR PATTIES WITH MUSHROOM, PRE-COOKED, USAGE DEPENDS UPON USDA DONATED BEEF, 2.400z, LOOSE FILL-NATURAL SHAPE	Y		CS	GOODMAN FOOD PRODUCTS DBA DON LEE FARMS	3000	97.2	\$291,600.00
				00		3000	51.2	φ231,000.00
				cs	JTM PROVISIONS CO INC	3000	106.3	\$318,900.00
				CS	BRAUN BEEF CO INC	3000	108.32	\$324,960.00
8	BEEF PATTY, RAW, 5.33 OZ 3/1, BLACK ANGUS, IQF	No Award		cs		200	NB	NB
9	BISCUIT, PAR-BAKED, PRE-SLICED, NO TRANS FAT, 51% WHOLE GRAIN	No Award		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	2500	16.43	\$41,075.00
				cs	BRIDGFORD MARKETING COMPANY	2500	19.2	\$48,000.00
				cs	C H GUENTHER & SON INC DBA PIONEER FLOUR MILLS	2500	20	\$50,000.00
				CS	BRAUN BEEF CO INC	2500	25.627	\$64,067.50
				cs	*HANKS BROKERAGE	2500		
		Ň			MCLANE EXPRESS INCORPORATED DBA THE CD			
10	BLUEBERRIES, IQF, 20 LB	Y		CS CS	HARTNETT CO GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	4500 4500	38.91 54.82	\$175,095.00 \$246,690.00
<u> </u>				cs		4500	56	\$252,000.00
11	BREAD STICKS, PRE-CUT, PROOF & BAKE, 51% WHOLE GRAIN, BAKEMARK BRAND	No Award		cs	BRAUN BEEF CO INC BRIDGFORD MARKETING COMPANY	1000	18.4	\$252,000.00
	BREAD STICKS, STUFFED WITH MOZZARELLA CHEESE, 6", 51% WHOLE GRAIN		8PS	CS	BRAUN BEEF CO INC	500	20.4	\$10,200.00
			3TQ	cs	NARDONE BROS BAKING CO INC	500	32	\$16,000.00

Line #	Item Description	Award (Y/N)	Reason	UOM	Supplier	Qty	Price	Extended Price
n	Rein Desemption	(1/14)	Reason	0011	ouppilo	aty	11100	Thee
			1NL	cs	TASTY BRANDS LLC	500	40.16	\$20,080.00
					CONAGRA FOODS			
			8PS	CS	INCORPORATED	500	43	\$21,500.00
			ЗTQ	cs	SCHWANS FOOD SERVICE	500	48.36	\$24,180.00
		Y		CS	*TYSON PREPARED FOODS INC	500		
	BREAKFAST BAR, 51% WHOLE GRAIN, INDIVIDUALLY WRAPPED, NUT FREE		1NL	cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	1500	24.49	\$36,735.00
			1NL	cs	BRAUN BEEF CO INC	1500	24.72	\$37,080.00
		Y		cs	NATIONAL FOOD GROUP INC	1500	31.8	\$47,700.00
				cs	THE FATHER'S TABLE-C/O ACOSTA FOOD SERVICE ALT	1500	33	\$49,500.00
				CS	THE FATHER'S TABLE C/O ACOSTA FOOD SERVICE	1500	35	\$52,500.00
	BREAKFAST STUFFED BISCUIT, SAUSAGE AND GRAVY, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN BREAD, MINIMUM 2.7 oz, JTM							
14	FUNDLE OR SIMILAR		4NS	CS	SCHWANS FOOD SERVICE	1000	43.7	\$43,700.00
		Y		CS	JTM PROVISIONS CO INC	1000	75.32	\$75,320.00
	BROCCOLI CUT, GRADE A, 20# BULK, 4000 LB SHIPMENTS		3TQ	CS	BRAUN BEEF CO INC	2000	11.6	\$23,200.00
		Y		cs	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	2000	16.4	\$32,800.00
				CS	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	2000	16.53	\$33,060.00
16	BROWNIES, FROZEN, READY TO ICE, ENRICHED FLOUR, 1/4 OR 1/2 SHEET TRAYS		1NL	CS	*TYSON PREPARED FOODS INC	50		
		Y		cs	*ARYZTA LLC	50		
	BROWNIE, FUDGE, 51% WHOLE GRAIN, INDIVIDUALLY PACKAGED		3TQ	cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	500	24.15	\$12,075.00
			3TQ	cs	BRAUN BEEF CO INC	500	24.715	\$12,357.50
			3TQ	CS	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	500	25.35	\$12,675.00
		Y		cs	*ADVANCE SALES & MARKETING INCORPORATED	500		

Line #	Item Description	Award (Y/N)	Reason	иом	Supplier	0.5%	Price	Extended Price
#	nem Description	(17N)	Reason	0011	Supplier	Qty	Price	Frice
		Y	Alt.	cs	NATIONAL FOOD GROUP INC	500	36	\$18,000.00
		No						
18	BUTTER, PC PACKAGES, NO TRANS FAT	Award		cs		10	NB	NB
	CARROTS, BABY, WHOLE, GRADE, 20 LB				MCLANE EXPRESS INCORPORATED DBA THE CD			
19	BULK, 4000 LB SHIPMENT	Y		CS	HARTNETT CO	3800	15.31	\$58,178.00
				cs	CHURCHFIELD TRADING CO.	3800	16.77	\$63,726.00
					GOOD SOURCE SOLUTIONS DBA			
				CS	TOOLS FOR SCHOOLS	3800	16.8	\$63,840.00
				cs	BRAUN BEEF CO INC	3800	17.54	\$66,652.00
				cs	CHURCHFIELD TRADING COALT	3800	20.3	\$77,140.00
	COMMERICAL CHEESE, 50/50 MOZZ/PROV,							
20	SHREDDED, LOW SODIUM, 4/5#	Y		CS	CHURCHFIELD TRADING CO.	2500	66.25	\$165,625.00
21	CHEESE, CHEDDAR, SLICED SANDWICH STYLE, LOW SODIUM	Y		CS	BONGARDS C/O ACOSTA FOOD SERVICE	200	36.51	\$7,302.00
- 1						200	00.01	¢1,002.00
				cs	ADVANTAGE WAYPOINT LLC	200	45.49	\$9,098.00
	COMMERCIAL CHEESE, LOW SODIUM	No			BONGARDS C/O ACOSTA FOOD			
22	MOZZARELLA, SHREDDED, 4/5# OR SIMILAR	Award		CS	SERVICE	600	45.5	\$27,300.00
						600	40.40	¢20,400,00
				CS	ADVANTAGE WAYPOINT LLC	600	49.16	\$29,496.00
23	CHEESE, PARMESAN PC, 3.5 GRAMS	No Award		cs		25	NB	NB
	CHEESE, PEPPER JACK, SLICED SANDWICH				BONGARDS C/O ACOSTA FOOD			
24	STYLE, LOW SODIUM	Y		CS	SERVICE	200	36.51	\$7,302.00
				CS	ADVANTAGE WAYPOINT LLC	200	45.49	\$9,098.00
	CHEEZY BREAD, 51% WHOLE GRAIN, LOW MOISTURE-PART SKIM MOZZARELLA, NOT	No						
26	TRANS FAT	Award		CS	BRAUN BEEF CO INC	2000	41.69	\$83,380.00
							40.00	* ~~ ~ ~ ~
				CS	SCHWANS FOOD SERVICE	2000	43.39	\$86,780.00
				cs	NARDONE BROS BAKING CO INC	2000	45	\$90,000.00
				cs	NATIONAL FOOD GROUP INC	2000	61.95	\$123,900.00
				cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	2000	70.77	\$141,540.00
	COMMODITY CHICKEN BREAST FILET, SPICY,							
0	51% WHOLE GRAIN BREADING, PRE-COOKED, WHOLE MUSCLE, NATURAL SHAPE, TYSON					4000		
27	#70312-928 OR SIMILAR		1NL	CS	*RICH CHICKS, LLC	4000	<u> </u>	

Line		Award	_					Extended
#	Item Description	(Y/N)	Reason	UOM	Supplier	Qty	Price	Price
		Y		cs	*TYSON PREPARED FOODS INC	4000		
	COMMERCIAL CHICKEN BREAST FILET, SPICY,							
	51% WHOLE GRAIN BREADING, PRE-COOKED, WHOLE MUSCLE, NATURAL SHAPE, TYSON				EICHENLAUB INCORPORATED			
28	#70312-928 OR SIMILAR		1NL	CS	DBA SUMMIT FOOD BROKERS	4000	59.6	\$238,400.00
			1NL	cs	*RICH CHICKS, LLC	4000		
					MCLANE EXPRESS INCORPORATED DBA THE CD			
			1NL	CS	HARTNETT CO	4000	80.59	\$322,360.00
		Y		cs	*TYSON PREPARED FOODS INC	4000		
	COMMODITY CHICKEN TENDERS, MADE WITH WHOLE MUSCLE, FULLY COOKED, 51%			~~				
29	WHOLE GRAIN BREADING		1NL	CS	*RICH CHICKS, LLC	12000		
		Y		cs	*TYSON PREPARED FOODS INC	12000		
	CHICKEN BREAST, TERIYAKI GLAZED, PRE- COOKED, BREAST SHAPED BREAST AND RIB							
	MEAT ONLY, MINIMAL PROTEIN ISOLATES FOR BINDER, 90% FAT FREE, PIERRE # 9829 OR	No						
30	EQUAL	Award		cs		2000	NB	NB
	COMMERCIAL CHICKEN TENDERS, MADE							
31	WITH WHOLE MUSCLE, FULLY COOKED, 51% WHOLE GRAIN BREADING		1NL	cs	BRAKEBUSH BROTHERS	12000	31	\$372,000.00
					MCLANE EXPRESS			
			1NL	cs	INCORPORATED DBA THE CD HARTNETT CO	12000	41.77	\$501,240.00
-				00		12000	41.77	\$501,240.00
					EICHENLAUB INCORPORATED			
			1NL	CS	DBA SUMMIT FOOD BROKERS	12000	55	\$660,000.00
			1NL	cs	*RICH CHICKS, LLC	12000		
				00		12000		
		Y		cs	*TYSON PREPARED FOODS INC	12000		
	CHICKEN, OVEN ROASTED, DELI SLICED, LOW							
32	SODIUM	Y		CS	*TYSON PREPARED FOODS INC	100		
	COMMODITY CHICKEN, BONELESS WINGS MADE WITH WHOLE MUSCLE, 51% WHOLE							
33	GRAIN BREADING		1NL	cs	*RICH CHICKS, LLC	12000		
		Y		CS	*TYSON PREPARED FOODS INC	12000		
	CHICKEN FAJITA, RAW, MARINATED, LOW				MCLANE EXPRESS INCORPORATED DBA THE CD			
34	SODIUM, PRE-CUT STRIPS, 7/2#	Y		CS	HARTNETT CO	5000	25.43	\$127,150.00
1						FARR		
				CS	*TYSON PREPARED FOODS INC	5000		
	COMMERCIAL CHICKEN, BONELESS WINGS MADE WITH WHOLE MUSCLE, 51% WHOLE				BRAKEBUSH BROTHERS			
35	GRAIN BREADING		1NL	CS	INCORPORATED	12000	27	\$324,000.00

Line #	Item Description	Award (Y/N)	Reason	UOM	Supplier	Qty	Price	Extended Price
			1NL	cs	EICHENLAUB INCORPORATED DBA SUMMIT FOOD BROKERS	12000	54.8	\$657,600.00
			1NL	cs	*RICH CHICKS, LLC	12000		
			INE	00	KICH CHICKS, EEC	12000		
		Y		CS	*TYSON PREPARED FOODS INC	12000		
36	CHICKEN ROASTED BREAST & THIGH, CUT UP BONE IN, FULLY COOKED, UNBREADED, OVEN PREPARATION	No Award		cs		1000	NB	NB
37	CHILI, BOIL IN BAG, FULLY COOKED, 6/5 LB, FINAL USAGE DEPENDENT ON USDA DONATED RAW PRODUCT	Y		<u> </u>	J BAR B FOODS	3000	40.2	\$120,600.00
51	BONALED NAW PRODUCT	•		00		3000	40.2	\$120,000.00
				CS	JTM PROVISIONS CO INC	3000	73.2	\$219,600.00
38	CINNIMON ROLL, MINIS, INDIVIDUALLY WRAPPED, 51% WHOLE GRAIN, 72/CS	No Award		cs		1500	NB	NB
20	COOKIE DOUGH, BUTTER SUGAR, 2 OZ, OTIS SPUNKMEYER SWEET DISCOVERY OR EQUAL		ЗТQ	cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	500	34.93	\$17,465.00
39	SPONRMETER SWEET DISCOVERT OR EQUAL		510	63	HARTNETT CO	500	34.93	\$17,405.00
		Y		CS	*ARYZTA LLC	500		
40	COOKIE DOUGH, BUTTER SUGAR, REDUCED FAT, 51% WHOLE GRAIN, NUT FREE PREFERRED		3TQ	cs	ADVANTAGE WAYPOINT LLC	2000	18.4	\$36,800.00
			ЗТQ	cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	2000	29.77	\$59,540.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
			3TQ	CS	HARTNETT CO	2000	31.67	\$63,340.00
		Y		cs	*ARYZTA LLC	2000		
41	COOKIE DOUGH, CHOCOLATE BROWNIE, REDUCED FAT, 51% WHOLE GRAIN, NUT FREE PREFERRED		3TQ	cs	ADVANTAGE WAYPOINT LLC	1000	18.4	\$18,400.00
					SYSCO USA INCORPORATED DBA			
			3TQ	CS	SYSCO NORTH TEXAS	1000	33.53	\$33,530.00
		Y		CS	*ARYZTA LLC	1000		
				cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	1000	35.53	\$35,530.00
42	COOKIE DOUGH, CARNIVAL, REDUCED FAT, 51% WHOLE GRAIN, NUT FREE PREFERRED		3TQ	cs	ADVANTAGE WAYPOINT LLC	1000	18.4	\$18,400.00
		Y		CS	*ARYZTA LLC	1000		

Line #	Item Description	Award (Y/N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1000	34.12	\$34,120.00
				cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	1000	35.93	\$35,930.00
43	COOKIE DOUGH, CHOC CHIP, 2 OZ, OTIS SPUNKMEYER SWEET DISCOVERY OR EQUAL		ЗТQ	CS	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1000	36.17	\$36,170.00
		Y		cs	*ARYZTA LLC	1000		
					MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	1000	38.11	\$38,110.00
	COOKIE DOUGH, CHOCOLATE CHIP, REDUCED FAT, 51% WHOLE GRAIN, NUT FREE PREFERRED		ЗТQ	cs	ADVANTAGE WAYPOINT LLC	2000	18.4	\$36,800.00
			зта		*ADVANCE SALES & MARKETING INCORPORATED	2000		,
			ЗТQ	CS	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	2000	33.83	\$67,660.00
		Y		cs	*ARYZTA LLC	2000		
				cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	2000	35.69	\$71,380.00
45	COOKIE DOUGH, OATMEAL RAISIN, 2 OZ, OTIS SPUNKMEYER SWEET DISCOVERY OR EQUAL		3TQ	CS	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	500	29.79	\$14,895.00
		Y		cs	*ARYZTA LLC	500		
				CS	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	500	48.85	\$24,425.00
	COOKIE DOUGH, WHITE CHOCOLATE MACADAMIA NUT, 2 OZ, OTIS SPUNKMEYER SWEET DISCOVERY OR EQUAL	Y		cs	*ARYZTA LLC	1000		
				cs	ADVANTAGE WAYPOINT LLC	1000	18.4	\$18,400.00
	CORN DOG, BEEF AND/OR POULTRY, 4 OZ, 51% WHOLE GRAIN SWEET BATTER, SKELETAL MEAT ONLY, FAT NOT TO EXCEED 20%, MUST WEIGH 3.2 OZ OR MORE, LOW FAT AND SODIUM		1NL	cs	*TYSON PREPARED FOODS INC	3000		
		Y		cs	GOODMAN FOOD PRODUCTS DBA DON LEE FARMS	3000	23.04	\$69,120.00
				CS	FOSTER POULTRY FARMS DBA FOSTER FARMS	3000	25.56	\$76,680.00

Line #	Item Description	Award (Y/N)	Reason	UOM	Supplier	Qty	Price	Extended Price
49	CORN, CUT, 20 LB BULK, GRADE A FANCY, 10,000 LB SHIPMENTS		3TQ	cs	CHURCHFIELD TRADING CO.	4000	13.31	\$53,240.00
45	10,000 LB SHIFWENTS		3162	63	CHORCHFIELD TRADING CO.	4000	13.31	\$33,240.00
		Y		cs	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	4000	13.4	\$53,600.00
		•				-1000	10.4	<i>400,000.00</i>
				cs	BRAUN BEEF CO INC	4000	14.48	\$57,920.00
				cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	4000	15.67	\$62,680.00
				CS	CHURCHFIELD TRADING COALT	4000	16.84	\$67,360.00
50	CUPCAKES, VANILLA OR SIMILAR, 51% WHOLE GRAIN, 35% OR LESS TOTAL CAL FAT, 10% OR LESS CAL FROM SATURATED FAT, NO TRANS FAT, LESS THAN 230 MG SODIUM, NO MORE THAN 35% BY WEIGHT SUGAR, NO MORE THAN 200 CALORIES	Y		cs	SUPER BAKERY INC	500	22.82	\$11,410.00
51	CALZONE, PEPPERONI, 51% WHOLE GRAIN CRUST, 1/8 CUP RED/ORANGE VEGETABLE EQUIVALENT, LOW SODIUM, 60/CS	Y		cs	*TYSON PREPARED FOODS INC	12000		
				CS	NATIONAL FOOD GROUP INC	12000	59.2	\$710,400.00
52	DRESSING, CORNBREAD, 51% WHOLE GRAIN VARIETY	No Award		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	250	27.95	\$6,987.50
				cs	ADVANTAGE WAYPOINT LLC	250	28.2	\$7,050.00
53	EGGS, IQF NATURAL DICED HARD COOKED, QUICK FROZEN	Y		cs	BRAUN BEEF CO INC	500	53.156	\$26,578.00
54	EMPANADAS, BLACK BEAN WITH 51% WHOLE GRAIN CRUST, BAKEABLE, GIORGIO FOODS OR SIMILAR	No Award		cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1000	50.35	\$50,350.00
55	FLATBREAD, FROZEN, PRE-COOKED, 51% WHOLE WHITE WHEAT, GRILL MARKS ON BOTTOM AND BUBBLED BROWNING SPOTS ON TOP, RICH'S OR EQUIVALENT	Y		CS	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	500	35.45	\$17,725.00
				cs	BRAUN BEEF CO INC	500	35.79	\$17,895.00
56	FRANKS, BEEF AND/OR POULTRY, 8/1, MADE FROM SKELETAL MEAT ONLY, FAT NOT TO EXCEED 20%, LOW SODIUM	Y		вх	AEM ECK ACQUISITION INC DBA ARMOUR ECKRICH MEATS LLC	3500	26.5	\$92,750.00
				вх	*TYSON PREPARED FOODS INC	3500		
57	FRANKS, BEEF, 6/1, BALLPARK	Y		cs	*TYSON PREPARED FOODS INC	100		

Line #	Item Description	Award (Y/N)	Reason	υом	Supplier	Qty	Price	Extended Price
	FRENCH FRIES, GRADE A EXTRA LONG, FANCY STRAIGHT CUT, SUITABLE FOR BAKING, NO MORE THAN 200mg SODIUM PER SERVING, 301b/CS, MCCAIN #MCF03762 OR							
58	SIMILAR, TRUCK LOAD SHIPMENTS		3TQ	CS	ADVANTAGE WAYPOINT LLC	20000	16.79	\$335,800.00
			ЗTQ	cs	LAMB WESTON C/O ACOSTA FOOD SERVICES	20000	16.91	\$338,200.00
			ЗТQ	CS	LAMB WESTON C/O ACOSTA FOOD SERVICES-ALT	20000	17.22	\$344,400.00
		Y		cs	*MCCAIN FOODS	20000		
59	FRENCH TOAST STICKS, 51% WHOLE GRAIN		ЗТQ	cs	*MCCAIN FOODS	1000		
		Y		cs	ADVANTAGE WAYPOINT LLC	1000	13.71	\$13,710.00
				CS	RALCORP/CONAGRA BAKERIES C/O ACOSTA FOOD SERVICES	1000	20.85	\$20,850.00
				cs	BRAUN BEEF CO INC	1000	34	\$34,000.00
				CS	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	1000	34.69	\$34,690.00
60	FRIES, SWEET POTATO, KRINKLE CUT, SUITABLE FOR BAKING		ЗТQ	CS	ADVANTAGE WAYPOINT LLC	3000	17.22	\$51,660.00
		Y		cs	*MCCAIN FOODS	3000		
				cs	LAMB WESTON C/O ACOSTA FOOD SERVICES	3000	19.09	\$57,270.00
				cs	CHURCHFIELD TRADING CO.	3000	20.41	\$61,230.00
61	GARLIC TOAST, 51% WHOLE GRAIN, NO TROPICAL OILS, NO TRANS FATS	No Award		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	500	20.63	\$10,315.00
				CS	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	500	20.84	\$10,420.00
				cs	BRAUN BEEF CO INC	500	23.07	\$11,535.00
<u> </u>				0.5		300	23.07	φ11,000.00
				CS	NARDONE BROS BAKING CO INC	500	50	\$25,000.00
62	GORDITA SHELL, 51% WHOLE GRAIN, 6" GRILLED MARKS ON BOTTOM WITH BUBBLED BROWN SPOTS ON TOP, ULTRA LOCO BREAD OR SIMILAR	Y		cs	THE FATHER'S TABLE C/O ACOSTA FOOD SERVICE	1000	24.5	\$24,500.00
	GREEN BEANS, FROZEN, GRADE A, REGULAR CUT, 1-4 SIEVE	Y			GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	1000	11.8	\$11,800.00

Line #	Item Description	Award (Y/N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	BRAUN BEEF CO INC	1000	13.668	\$13,668.00
						4000		* 4 000 00
				CS	CHURCHFIELD TRADING CO.	1000	14.39	\$14,390.00
				cs	INCORPORATED DBA THE CD HARTNETT CO	1000	16.89	\$16,890.00
				cs	CHURCHFIELD TRADING COALT	1000	17.92	\$17,920.00
		No		00		1000	17.52	\$17,920.00
64	HAM, BUFFET, WRIGHT #3126-616 OR EQUAL	Award		CS		1000	NB	NB
65	ICING, CHOCOLATE, READY TO SPREAD, 40# CONTAINERS, BEST BRAND CHOKO FUDGE OR EQUAL	No Award		cs		15	NB	NB
					CAL-TEX CITRUS JUICE LLP DBA			
66	JUICE, GRAPE, 4 OZ FROZEN CUPS	Y		CS	COUNTRY PURE FOODS	200	13.27	\$2,654.00
67	LASAGNA, FOUR CHEESE, 51% WHOLE GRAIN PASTA, TASTY BRAND #00822WG OR SIMILAR	Y		cs	WINDSOR QUALITY FOODS COMPANY LTD DBA WINDSOR FOODS	300	35.35	\$10,605.00
				cs	BRAUN BEEF CO INC	300	41.07	\$12,321.00
				cs	TASTY BRANDS LLC	300	50.36	\$15,108.00
				cs	TABATCHNICK FINE FOODS	300	70.34	\$21,102.00
68	MARGARINE SOLIDS, 30/1 LB, NO TRANS FAT, ALL VEGETABLE	Y		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	2500	21.09	\$52,725.00
				cs	CHURCHFIELD TRADING CO.	2500	23.67	\$59,175.00
69	MINI CRESENTS, TURKEY PEPPERONI AND CHEESE, 51% WHOLE GRAIN, 480mg SODIUM OR LESS, 3pc PER 5oz SERVING	No Award		cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	3000	37.47	\$112,410.00
	MIXED VEGETABLES, KYOTO BLEND, EDAMAME, BROCCOLI FLORETS, JULIENNE CARROTS, CUT CORN, DICED RED PEPPERS,				MCLANE EXPRESS INCORPORATED DBA THE CD			
70	IQF, 6/2.5Ib BAGS/CS	Y		CS	HARTNETT CO	1000	22.73	\$22,730.00
-	MIXED VEGETABLES, MIDORI BLEND, EDAMAME, SUGAR SNAP PEAS, BABY CORN, RED PEPPER STRIPS, WATER CHESTNUTS,			00	MCLANE EXPRESS INCORPORATED DBA THE CD	1000	00.70	¢00 700 66
71	IQF, 6/2.5lb BAGS/CS	Y		CS	HARTNETT CO	1000	22.73	\$22,730.00
72	MIXED VEGGIES, GREEN BEANS, LIMA BEANS, CARROTS, CORN AND PEAS, GRADE A, 12/2.5#		4MO	cs	CHURCHFIELD TRADING CO.	1500	14.39	\$21,585.00
			4MO	cs	CHURCHFIELD TRADING COALT	1500	17.92	\$26,880.00
			4MO	cs	BRAUN BEEF CO INC	1500	22.95	\$34,425.00

Line		Award	_		0	•		Extended
#	Item Description	(Y/N)	Reason	UOM	Supplier	Qty	Price	Price
					MCLANE EXPRESS INCORPORATED DBA THE CD			
		Y		CS	HARTNETT CO	1500	25.95	\$38,925.00
					GOOD SOURCE SOLUTIONS DBA			
				cs	TOOLS FOR SCHOOLS	1500	30.9	\$46,350.00
	MIXED VEGETABLES, TUSCAN BLEND, WHOLE GREEN BEANS, SLICED CARROTS, YELLOW				MCLANE EXPRESS			
73	SQUASH, ZUCCHINI, AND RED PEPPER STRIPS, IQF, 6/2.5Ib BAGS/CS	Y		cs	INCORPORATED DBA THE CD HARTNETT CO	2500	29.09	\$72,725.00
	MUFFIN, CORN, WHOLE GRAIN, INDIVIDUALLY							
74	WRAPPED		3TQ	cs	BRAUN BEEF CO INC	500	14.58	\$7,290.00
					*ADVANCE SALES & MARKETING			
			1NL	CS	INCORPORATED	500		
			1NL	cs	SUPER BAKERY INC	500	20.97	\$10,485.00
					oor En BAREIN ING	000	20.01	¥10,400.00
		Y		cs	NATIONAL FOOD GROUP INC	500	24	\$12,000.00
					MCLANE EXPRESS			
				cs	INCORPORATED DBA THE CD HARTNETT CO	500	25.21	\$12,605.00
							20121	¥12,000.00
	PANCAKE MINIS, 51% WHOLE GRAIN, SINGLE SERVE, OVENABLE POUCH, 2 OZ GRAIN							
75	EQUIVALENT		1NL	CS	NATIONAL FOOD GROUP INC	2000	23.6	\$47,200.00
		Y		cs	*ADVANCE SALES & MARKETING INCORPORATED	2000		
		-						
				cs	ADVANTAGE WAYPOINT LLC	2000	24.85	\$49,700.00
					MCLANE EXPRESS			
				cs	INCORPORATED DBA THE CD HARTNETT CO	2000	25.25	\$50,500.00
								,
				cs	BRAUN BEEF CO INC	2000	25.5	\$51,000.00
	PANCAKES, 51% WHOLE GRAIN, BULK PACK							
76	IN POLY LINER, EQUALS 2 OZ GRAIN EQUIVALENT		3TQ	cs	ADVANTAGE WAYPOINT LLC	2000	13.82	\$27,640.00
		V		00	RALCORP/CONAGRA BAKERIES	2000	17-00	¢24 580 00
<u> </u>		Y		CS	C/O ACOSTA FOOD SERVICES	2000	17.29	\$34,580.00
1					SYSCO USA INCORPORATED DBA			
				CS	SYSCO NORTH TEXAS	2000	25.62	\$51,240.00
	PAN DULCE/CONCHA, 51% WHOLE GRAIN, INDIVIDUALLY WRAPPED, BUENA VISTA OR							
77	EQUAL		3TQ	cs	BRAUN BEEF CO INC	500	17.82	\$8,910.00
					*ADVANCE SALES & MARKETING			
		Y		CS	INCORPORATED	500		
	PASTA TOPPER, BOIL IN BAG, FULLY COOKED, 6/5 LB, FINAL USAGE DEPENDENT				TABATCHNICK FINE FOODS			
78	ON USDA RAW PRODUCT AVAILABILITY		3TQ	cs	INCORPORATED	3000	39.95	\$119,850.00

Line #	Item Description	Award (Y/N)	Reason	UOM	Supplier	Qty	Price	Extended Price
		Y		cs	J BAR B FOODS	3000	40.2	\$120,600.00
				CS	JTM PROVISIONS CO INC	3000	77.28	\$231,840.00
79	PEACH CUPS, FROZEN, 4 OZ.	Y		cs	*ADVANCE SALES & MARKETING INCORPORATED	500		
80	PEACHES, IQF, 20# BULK	Y		cs	*ADVANCE SALES & MARKETING INCORPORATED	500		
80	reaches, IQF, 20# BULK			03	INCORPORATED	300		
				cs	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	500	39.8	\$19,900.00
81	PEAS, ENGLISH, GRADE A, 3 SIEVE, IQF, 20# BULK		3TQ	cs	BRAUN BEEF CO INC	1500	16.03	\$24,045.00
		Y		cs	GOOD SOURCE SOLUTIONS DBA TOOLS FOR SCHOOLS	1500	16.2	\$24,300.00
				cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	1500	18.21	\$27,315.00
	POLLO ASADO, FULLY COOKED, 400mg SODIUM OR LESS PER 5oz SERVING, NO TRANS FAT, GLUTEN FREE		3TQ	CS	DEL REAL LLC DBA DEL REAL FOODS	300	65.78	\$19,734.00
		Y	Alt	cs	DEL REAL LLC DBA DEL REAL FOODS	300	70.14	\$21,042.00
	COMMODITY POPCORN CHICKEN, ALL WHITE MEAT, 51% WHOLE GRAIN BREADING	Y		cs	*TYSON PREPARED FOODS INC	5000		
				cs	*RICH CHICKS, LLC	5000		
	COMMERCIAL POPCORN CHICKEN, ALL WHITE MEAT, 51% WHOLE GRAIN BREADING		1NL	cs	*RICH CHICKS, LLC	5000		
			1NL	CS	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	5000	49.15	\$245,750.00
		Y		CS	*TYSON PREPARED FOODS INC	5000		
	COMMODITY POPCORN CHICKEN, BUFFALO DIPPED OR SPICY, ALL WHITE MEAT, 51% WHOLE GRAIN BREADING	Y		cs	*TYSON PREPARED FOODS INC	9000		
				cs	*RICH CHICKS, LLC	9000		
	COMMERCIAL POPCORN CHICKEN, BUFFALO DIPPED OR SPICY, ALL WHITE MEAT, 51% WHOLE GRAIN BREADING		1NL	cs	*RICH CHICKS, LLC	9000		
		Y		cs	*TYSON PREPARED FOODS INC	9000		
				cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	9000	65.11	\$585,990.00

Line		Award						Extended
#	Item Description	(Y/N)	Reason	UOM	Supplier	Qty	Price	Price
87	PORK SLICES, FULLY COOKED, BULK	No Award		cs		300	NB	NB
	PRETZEL STICK, CHEESE STUFFED,							
88	PACKAGED WITH PAPER SLEEVE FOR SERVICE, 72/CS		4NS	cs	BRAUN BEEF CO INC	750	23.78	\$17,835.00
		Y		CS	*TYSON PREPARED FOODS INC	750		
89	POTATO, TATER TOTS, 6/4# OR 6/5#, SUITABLE FOR BAKING NOT FRYING		1NL	cs	*MCCAIN FOODS	6000		
		Y		cs	ADVANTAGE WAYPOINT LLC	6000	18.64	\$111,840.00
90	PRETZEL, SOFT, 51% WHOLE GRAIN, WITH PACKAGING, SUPERPRETZEL OR EQUAL	No Award		cs		500	NB	NB
91	PRETZEL ROLL, PRE-SLICED, 51% WHOLE GRAIN, LOW SODIUM	Y		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	500	36.73	\$18,365.00
	PUDDING CUPS, SKIM MILK, BIRTHDAY CAKE							
92	VANILLA OR SIMILAR, ZERT'S OR EQUAL		3TQ	CS	ADVANTAGE WAYPOINT LLC	500	16.81	\$8,405.00
			8PS	cs	BRAUN BEEF CO INC	500	19.4	\$9,700.00
		Y		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	500	19.79	\$9,895.00
93	ROLL, CINNAMON, 51% WHOLE GRAIN, FROZEN, PRE-CUT, RICH'S OR SIMILIAR	Y		cs	BRAUN BEEF CO INC	800	26.97	\$21,576.00
				cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	800	27.31	\$21,848.00
	ROLL, DINNER, GLUTEN FREE, 51% WHOLE	No						
94	GRAIN, BREADSTICK OR SIMILAR	Award		CS		500	NB	NB
95	ROLL, DINNER, 51% WHOLE WHEAT, FROZEN, 240/CS		1NL	cs	BRIDGFORD MARKETING COMPANY	7000	14.37	\$100,590.00
		Y		cs	BRAUN BEEF CO INC	7000	15.347	\$107,429.00
				cs	SUPER BAKERY INC	7000	21.84	\$152,880.00
				cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	7000	22.11	\$154,770.00
				CS	C H GUENTHER & SON INC DBA PIONEER FLOUR MILLS	7000	28.5	\$199,500.00
96	SAUCE, SRIRACHA, BOIL IN BAG, LOW SODIUM, 6/5# BAGS	Y		cs	JTM PROVISIONS CO INC	200	36.98	\$7,396.00
				cs	ASIAN FOOD SOLUTIONS	200	52.5	\$10,500.00
97	SAUCE, ORANGE, BOIL IN BAG, LOW SODIUM, 6/5# BAGS	No Award		cs	CHEFS CORNER FOODS	500	41.2	\$20,600.00

Line	tom Departmention	Award	Bassan	υом	Sumplier	044	Brico	Extended
#	Item Description	(Y/N)	Reason		Supplier	Qty	Price	Price
				cs	ASIAN FOOD SOLUTIONS	500	45.5	\$22,750.00
				CS	SCHWANS FOOD SERVICE	500	47.95	\$23,975.00
				cs	JTM PROVISIONS CO INC	500	61.93	\$30,965.00
				00		000	01.00	\$00,000.00
98	SANDWICH, HAM & CHEESE, INDIVIDUALLY PACKAGED, 51% WHOLE GRAIN BREAD	Y		CS	INTEGRATED FOOD SERVICE	1000	63	\$63,000.00
	SAUCE, SWEET TERIYAKI, BOIL IN BAG, LOW							
99	SODIUM, 6/5# BAGS	Y		CS	SCHWANS FOOD SERVICE	200	42.65	\$8,530.00
				cs	ASIAN FOOD SOLUTIONS	200	48.5	\$9,700.00
				cs	JTM PROVISIONS CO INC	200	56.23	\$11,246.00
100	SAUSAGE PATTY, PRECOOKED, PURE PORK, 2 OZ PATTY	Y		CS	*TYSON PREPARED FOODS INC	750		
				cs	*ADVANCE SALES & MARKETING INCORPORATED	750		
				cs	BRAUN BEEF CO INC	750	23.59	\$17,692.50
				cs	JTM PROVISIONS CO INC	750	81.07	\$60,802.50
	SAUSAGE ROLL, BREAKFAST, JALAPENO, KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH BAKED, LOW SODIUM, 2-2.5oz,							
101	DOUBLE B OR EQUAL	Y		CS	DOUBLE B FOODS ALT-A	1000	23	\$23,000.00
				cs	DOUBLE B FOODS	1000	25	\$25,000.00
400	SAUSAGE ROLL, BREAKFAST, KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH BAKED, LOW SODIUM, 2-2.5oz, DOUBLE B OR EQUAL	Y		66	DOUBLE B FOODS ALT-B	4000	21	\$84.000.00
102	EQUAL			63		4000	21	\$64,000.00
				cs	LECHI ENTERPRISES LLC DBA LECHI FOODS	4000	22.5	\$90,000.00
<u> </u>				CS	DOUBLE B FOODS MCLANE EXPRESS	4000	23	\$92,000.00
				cs	INCORPORATED DBA THE CD HARTNETT CO	4000	27.19	\$108,760.00
	SAUSAGE ROLL, CATERING, SAUSAGE						2	\$100,700.00
103	WRAPPED IN SOFT PASTRY, PAR BAKED, 2- 3oz		4NS	cs	DOUBLE B FOODS- <mark>ALT-A</mark>	100	24	\$2,400.00
		Y		cs	DOUBLE B FOODS	100	24	\$2,400.00
	SAUSAGE ROLL, BREAKFAST, KNOCKWURST WRAPPED IN 51% WHOLE GRAIN DOUGH							
104	BAKED, INDIVIDUALLY WRAPPED IN OVENABLE WRAP, DOUBLE B OR EQUAL		зта	cs	DOUBLE B FOODS ALT-C	1000	19	\$19,000.00
			3TQ	cs	DOUBLE B FOODS ALT-E	1000	20	\$20,000.00

Line #	Item Description	Award (Y/N)	Reason	UOM	Supplier	Qty	Price	Extended Price
			3TQ	cs	DOUBLE B FOODS ALT-A	1000	22	\$22,000.00
		Y		cs	DOUBLE B FOODS ALT-B	1000	23	\$23,000.00
				cs		1000		\$24,000,00
				US	DOUBLE B FOODS ALT-D	1000	24	\$24,000.00
				CS		1000	25	\$25,000.00
105	SLIDER BUN, PRE-SLICED, 51% WHOLE GRAIN	Y		CS	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	1500	23.73	\$35,595.00
				cs	SUPER BAKERY INC	1500	24.15	\$36,225.00
106	SOUP, BAKED POTATO, 400mg SODIUM OR LESS PER 5oz	Y		cs	MR MUDBUG INC DBA MMI CULINARY SERVICES	500	51.71	\$25,855.00
107	SOUP, VEGETABLE, 400mg SODIUM OR LESS PER 8oz	Y		CS	MR MUDBUG INC DBA MMI CULINARY SERVICES	500	42.18	\$21,090.00
108	STRAWBERRY, SLICED, 4 OZ FROZEN INDIVIDUAL CUPS, GRADE A, FANCY, NO SUGAR ADDED	Y		cs	*ADVANCE SALES & MARKETING INCORPORATED	500		
109	STRAWBERRIES, NO SUGAR ADDED, SLICED, FROZEN, GRADE A, FANCY, 6/6.5# CASE	Y		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	7000	21.79	\$152,530.00
110	TORNADOS, SOUTHWEST CHICKEN, 51% WHOLE GRAIN TORTILLA, RUIZ FOODS OR SIMILAR	Y		CS	BRAUN BEEF CO INC	500	13.43	\$6,715.00
				cs	FOSTER POULTRY FARMS DBA FOSTER FARMS	500	25.14	\$12,570.00
111	COMMODITY TACO MEAT, CHICKEN, BOIL IN BAG, FULLY COOKED, 6/5 LB	Y		cs	*TYSON PREPARED FOODS INC	2000		
				cs	BRAUN BEEF CO INC	2000	36.9	\$73,800.00
112	COMMERCIAL TACO MEAT, CHICKEN, BOIL IN BAG, FULLY COOKED, 6/5 LB			CS	J BAR B FOODS	2000	41.7	\$83,400.00
				cs	*TYSON PREPARED FOODS INC	2000		
				cs	BRAUN BEEF CO INC	2000	82.314	\$164,628.00
113	TORNADOS, RANCHERO BEEF, 51% WHOLE GRAIN TORTILLA, RUIZ FOODS OR SIMILAR	Y		cs	BRAUN BEEF CO INC	750	13.43	\$10,072.50
					FOSTER POULTRY FARMS DBA FOSTER FARMS	750	24.1	\$18,075.00
	TORTILLAS, WHOLE CORN, 51% WHOLE	No			RESER'S C/O ACOSTA FOOD			
114	GRAIN, HEAT PRESSED ONLY TORTILLAS, 10", PRESSED, 51% WHOLE	Award		CS	SERVICE RESER'S C/O ACOSTA FOOD	500	15.9	\$7,950.00
115	GRAIN		1NL	CS	SERVICE	2000	19	\$38,000.00

Line #	Item Description	Award (Y/N)	Reason	UOM	Supplier	Qty	Price	Extended Price
			1NL	CS	MCI FOODS INC	2000	21.51	\$43,020.00
			1NL	cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	2000	21.61	\$43,220.00
				00		2000	21.01	φ 4 3,220.00
		Y		CS	BRAUN BEEF CO INC	2000	23.82	\$47,640.00
				cs	*TYSON PREPARED FOODS INC	2000		
	TORTILLAS, 6", HEAT PRESSED ONLY, 51%							
116	WHOLE GRAIN FLOUR, 28 GR OR 1 OZ		1NL	CS	MCI FOODS INC	1500	13.42	\$20,130.00
			3TQ	cs	RESER'S C/O ACOSTA FOOD SERVICE	1500	17.5	\$26,250.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
			1NL	CS	HARTNETT CO	1500	20.45	\$30,675.00
			1NL	cs	*TYSON PREPARED FOODS INC	1500		
		Y		CS	BRAUN BEEF CO INC	1500	24.71	\$37,065.00
117	TURKEY BREAST, DELI MEAT, PRE-SLICED, LOW SODIUM, JENNIE-O OR SIMILAR	Y		cs	*TYSON PREPARED FOODS INC	300		
118	TURKEY BREAST ROAST, BONELESS, FULLY COOKED, LOW SODIUM, WHITE MEAT ONLY, NATURAL SHAPE	No Award		cs		1000	NB	NB
119	TURKEY HAM, SLICED DARK MEAT, SKINLESS, LOW SODIUM, 0.5 OZ SLICE, DELIVERED FROZEN	Y		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	1000	2.71	\$2,710.00
	QUESADILLA, SOUTHWEST VEGGIE, 51%	No						
120	WHOLE GRAIN TORTILLA, BULK PACKED	Award		cs	MCI FOODS INC	300	24.37	\$7,311.00
				cs	FOSTER POULTRY FARMS DBA FOSTER FARMS	300	54.31	\$16,293.00
				cs	SCHWANS FOOD SERVICE	300	65.4	\$19,620.00
							70.4	* 00.000.00
				CS	INTEGRATED FOOD SERVICE	300	79.4	\$23,820.00
121	TURKEY COMBO PACK, ITALIAN, 0.5 OZ SLICES OF TURKEY HAM, TURKEY SALAMI, TURKEY PEPPERONI PACKED SEPARATELY IN 1# PACK, LOW SODIUM	No Award		cs		500	NB	NB
122	VEGGIE BURGER PATTY, 3.4 OZ, GARDEN BURGER BRAND		4MO	cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	50	37.8	\$1,890.00
		Y		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	50	40.73	\$2,036.50
					MCLANE EXPRESS INCORPORATED DBA THE CD			
123	WAFFLE STICKS, 51% WHOLE GRAIN		1NL	CS	HARTNETT CO	1500	19.43	\$29,145.00

Line		Award						Extended
#	Item Description	(Y/N)	Reason	UOM	Supplier	Qty	Price	Price
		Y		cs	RALCORP/CONAGRA BAKERIES C/O ACOSTA FOOD SERVICES	1500	22.89	\$34,335.00
124	WHIP TOPPING, 12/32 OZ CASE, RICH'S OR EQUAL	Y		cs	BRAUN BEEF CO INC	500	38.93	\$19,465.00
					MCLANE EXPRESS INCORPORATED DBA THE CD			
				CS	HARTNETT CO	500	39.39	\$19,695.00
	WAFFLE MINIS, 51% WHOLE GRAIN, SINGLE	No						
125	SERVE, OVENABLE POUCH	Award		CS	BRAUN BEEF CO INC	1000	25.1	\$25,100.00
					MCLANE EXPRESS			
				cs	INCORPORATED DBA THE CD HARTNETT CO	1000	25.25	\$25,250.00
-								+=0,200.00
					SYSCO USA INCORPORATED DBA			
				CS	SYSCO NORTH TEXAS	1000	25.62	\$25,620.00
					DANNON C/O ACOSTA FOOD			
126	YOGURT, LOW FAT, BULK	Y		CS	SERVICE	500	11.97	\$5,985.00
	YOGURT, LOW FAT, INDIVIDUAL PACKAGED,				DANNON C/O ACOSTA FOOD			
127	LOWER SUGAR	Y		CS	SERVICE	1500	9.6	\$14,400.00
					MCLANE EXPRESS			
				cs	INCORPORATED DBA THE CD HARTNETT CO	1500	9.97	\$14,955.00
	AVOCADO PULP, FROZEN, 25mg SODIUM OR				MCLANE EXPRESS INCORPORATED DBA THE CD			
128	LESS PER 30gr, 6/2# BAGS PER CASE	Y		CS	HARTNETT CO	250	38.95	\$9,737.50
				CS	BRAUN BEEF CO INC	250	53.04	\$13,260.00
	BACON, SLICED TURKEY, FULLY COOKED,	No						
129	LOW SODIUM, 10# CASE	Award		CS		500	NB	NB
	BAGELS, MINI WITH STRAWBERRY CREAM							
130	CHEESE, INDIVIUALLY WRAPPED, 51% WHOLE GRAIN, 72/CS	No Award		cs		1500	NB	NB
				_				
	COMMODITY BAR-B-Q, PORK, LOW SODIUM TEXAS WESTERN SAUCE, 4/51b/CS, BOIL IN							
131	BAG, USAGE DEPENDENT UPON USDA DONATED PRODUCT	No Award		cs	JTM PROVISIONS CO INC	1500	39.26	\$58,890.00
							00.20	<i>400,000.00</i>
	BEEF, PHILLY SLICED, FULLY COOKED, NO							
132	MORE THAN 400mg SODIUM PER CN SERVING	Y		CS	JTM PROVISIONS CO INC	500	124.2	\$62,100.00
	BEEF PATTY, RAW, 4 OZ 80/20, IQF, NO ADDED	No						
133	TRANS FATS	Award		CS		3000	NB	NB
					MCLANE EXPRESS			
134	BEIGNET, 51% WHOLE GRAIN	Y		cs	INCORPORATED DBA THE CD HARTNETT CO	750	36.73	\$27,547.50
104				00		100	00110	φ_1,0-11:00
				cs	BRAUN BEEF CO INC	750	37.08	\$27,810.00
							0.100	<i> </i>
	BISCUIT DOUGH, SOUTHERN BUTTERMILK	No			C H GUENTHER & SON INC DBA			
135	STYLE, 2 OZ	Award		CS	PIONEER FLOUR MILLS	100	27.85	\$2,785.00

Line #	Item Description	Award (Y/N)	Reason	UOM	Supplier	Qty	Price	Extended Price
136	BISCUIT DOUGH, READY TO BAKE, 51% WHOLE GRAIN, BRIDGFORD HONEY WHEAT OR SIMILAR	No Award		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	2500	25.93	\$64,825.00
	BREAD STICKS, PAR-BAKED, 51% WHOLE GRAIN, NO TRANS FATS, COLE'S #00832 BRAND	No Award		cs		1000	14.42	\$14,420.00
137		Awaru		03		1000	14.42	\$14,420.00
				cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	1000	14.54	\$14,540.00
				cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	1000	21.33	\$21,330.00
138	BREADSTICK, APPLE STUFFED, IW, 51% WHOLE GRAIN, 72/CS	Y		cs	BRAUN BEEF CO INC	750	24.72	\$18,540.00
				cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	750	25.85	\$19,387.50
				cs	NATIONAL FOOD GROUP INC	750	28.7	\$21,525.00
				cs	*TYSON PREPARED FOODS INC	750		
139	BUTTERNUT SQUASH, IQF, DICED	No Award		CS		200	NB	NB
	CARNITAS, SHREDDED MEAT, FULLY COOKED, BOIL IN BAG, 400mg SODIUM OR LESS PER 3oz SERVING, NO TRANS FAT,				SYSCO USA INCORPORATED DBA			
140	GLUTEN FREE	Y			SYSCO NORTH TEXAS DEL REAL LLC DBA DEL REAL	300	52.1	\$15,630.00
	CHICKEN TINGA	Y	Alt	CS	FOODS	300	56.93	\$17,079.00
			3TQ	CS	JTM PROVISIONS CO INC DEL REAL LLC DBA DEL REAL	300	79.06	\$23,718.00
			3TQ	CS	FOODS DEL REAL LLC DBA DEL REAL	300	80.86	\$24,258.00
	SHREDDED BEEF	Y No	Alt	CS	FOODS	300	95.12	\$28,536.00
141	SHREDDED, LOW SODIUM, 4/5#	Award		CS		2500	NB	NB
142	MOZZARELLA, SHREDDED, 4/5# OR SIMILAR	Y		CS		600	11.5	\$6,900.00
				cs	BONGARDS C/O ACOSTA FOOD SERVICE	600	12.5	\$7,500.00
143	CHEESE, PARMESAN, BULK, 6/5 LB BAGS	No Award		cs		50	NB	NB
144	CRESCENTS MINI, TURKEY PEPPERONI, 51% WHOLE GRAIN CRUST, GEORGIO FOODS #9073 OR SIMILAR	No Award		cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	3000	37.47	\$112,410.00
145	CROISSANT, SANDWICH, SLICED, 51% WHOLE GRAIN	Y		CS	*TYSON PREPARED FOODS INC	500		

Line #	Item Description	Award (Y/N)	Reason	иом	Supplier	Qty	Price	Extended Price
110	CUPCAKES, CHOCOLATE OR SIMILAR, 51% WHOLE GRAIN, 35% OR LESS TOTAL CAL FAT, 10% OR LESS CAL FROM SATURATED FAT, NO TRANS FAT, LESS THAN 230 MG SODIUM, NO MORE THAN 35% BY WEIGHT SUGAR, NO	Y				500	00.00	<i>*// //0.00</i>
146	MORE THAN 200 CALORIES	Y		CS	SUPER BAKERY INC	500	22.82	\$11,410.00
147	ENCHILADA, THREE CHEESE, 51% WHOLE GRAIN CORN TORTILLA, BULK PACK		ЗТQ	cs	FOSTER POULTRY FARMS DBA FOSTER FARMS	3000	33.09	\$99,270.00
		Y		cs	INTEGRATED FOOD SERVICE	3000	41.85	\$125,550.00
				cs	MCI FOODS INC	3000	50	\$150,000.00
148	COMMODITY FISH, ALASKAN POLLOCK, 51% WHOLE GRAIN NACHO BREADING, SUITABLE FOR BAKING NOT FRYING		4NS	cs	BRAUN BEEF CO INC	6000	11.84	\$71,040.00
		Y		cs	ADVANTAGE WAYPOINT LLC	6000	26.21	\$157,260.00
149	COMMERCIAL FISH, ALASKAN POLLOCK, 51% WHOLE GRAIN NACHO BREADING, SUITABLE FOR BAKING NOT FRYING		4NS	cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	6000	20.61	\$123,660.00
			4NS	cs	BRAUN BEEF CO INC	6000	20.8	\$124,800.00
		Y		CS	ADVANTAGE WAYPOINT LLC	6000	45	\$270,000.00
150	HAM, DELI SLICED, PORK, TURKEY, OR CHICKEN, LOW SODIUM	Y		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	100	52.61	\$5,261.00
151	MUSHROOM DUXELLES, FROZEN BAGS, SEASONED, GIORGIO FOODS OR SIMILAR	No Award	NA	cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	100	35.53	\$3,553.00
	ORANGE CHICKEN, CRISPY CHICKEN GLAZED WITH ORANGE SAUCE, CHICKEN AND SAUCE PACKAGED SEPARATELY IN SAME CASE, NO							
152	MSG		3TQ	CS	CHEFS CORNER FOODS	3500	104.49	\$365,715.00
			1NL	cs	ASIAN FOOD SOLUTIONS	3500	117.16	\$410,060.00
		Y		cs	LINGS	3500	117.74	\$412,090.00
				cs	SCHWANS FOOD SERVICE	3500	159.55	\$558,425.00
153	PUDDING CUPS, SKIM MILK, CHOCOLATE BROWNIE FLAVOR OR SIMILAR, ZERT'S OR EQUAL	No Award		cs	ADVANTAGE WAYPOINT LLC	500	16.81	\$8,405.00
154	RAVIOLI, CHEESE STUFFED, 51% WHOLE GRAIN, 72/CS		ЗТQ	cs	WINDSOR QUALITY FOODS COMPANY LTD DBA WINDSOR FOODS	300	24.44	\$7,332.00
		Y		cs	MCLANE EXPRESS INCORPORATED DBA THE CD HARTNETT CO	300	49.51	\$14,853.00

Line #	Item Description	Award (Y/N)	Reason	UOM	Supplier	Qty	Price	Extended Price
				cs	SYSCO USA INCORPORATED DBA SYSCO NORTH TEXAS	300	51.75	\$15,525.00
				cs	TASTY BRANDS LLC	300	58.21	\$17,463.00
				cs	BRAUN BEEF CO INC	300	59.48	\$17,844.00
				cs	TABATCHNICK FINE FOODS	300	70.34	\$21,102.00
155	COMMERCIAL SAUSAGE PATTY, BREAKFAST, PRECOOKED, CHICKEN, 1.36 OZ, LOW SODIUM	Y		cs	*TYSON PREPARED FOODS INC	2000		
156	COMMODITY SAUSAGE PATTY, BREAKFAST, PRECOOKED, CHICKEN, 1.36 OZ, LOW SODIUM	Y		CS	*TYSON PREPARED FOODS INC	2000		
	SHREDDED BEEF, SEASONED, FULLY COOKED, 380 MG SODIUM OR LESS PER 3 OZ SERVING, NO TRANS FAT, GLUTEN FREE	No Award		cs		300	NB	NB
158	Bean and Cheese Pupusas	Y	Alt	CS	DEL REAL LLC DBA DEL REAL FOODS	300	35.00	\$10,500.00